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L BRI LT AR B OS! BT E : (10%) | o
(a) HyperText Transfer Protocol | i\'
(b) Dynamic Host Configuration Protocol F

(¢) Stream Control Transmission Protocol
(d) Full-duplex data flow
(€) Phase Shift Keying ~
2. (a) PageRank 2 Google HIBE [BEEINTEY — » HEEEN PageRank {&%
- RAEEE 7 (3%)
(b) HORAR MRS (BRREAVHETE A » SETEHKRIE PageRank HIRSERZ A0 AHRF
TRERLR (SHSIEIRIRE) 2 ES—EI7E « (3%)
3. (a) ST HIML BB 83 58 LI 2R B 2 (5%)
(b) #F Submit B EHITACLEENE ? (4%)

<htmly

<body>

<form action="action_page.php"s

First name:<b>

<input type="text” name="firstname" value=“Mickey"»
<bry

Last name:<brs

<input types"text” name="lastname” valuse" ‘House™>

<brz<trs
<ipput type="submit” value="Submit®s
</ Form>

<p>If you cllck "Submit”, the form-dats will be sent.</p>
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4. FARAERASEE 78 “TAD (oint Application Development)” S5/ » &
FZ LRI 7 1%) SRR EINLMT S TR HEJEAH DEE =PIV OF ¥
(3%) ,

5. MHBHFMEREE (file management) © BPEHE ¥ database management) & BN
SBY) AR ST RGBS data redundancy AYRSRE » MEASBIFRA
BERTRRIEBRGL - sl DMEFI AR - A —HE Y R Lﬂi’&kﬁﬂﬁ =3
BCATHLIRRE ? (10%)

6. Y AHEDEIE anribute/atiributes 2 functionally dependent on ‘T 3S{@E
attribute ? (5%) |

Tl T2 T3 T4 TS5 T6

3151 121 051 512.1 xyz k(31)
3155 122 0s1 513.1 xyz k(33)
3151 123 051 512.1 xyz ki35)
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7. Explain thread and the advantage of using threads? (10%)

8. Three processes with total execution time of 10, 20 and 30 units respectively arive at
time Zero. First 20% of the execuiion time of each process is spent in doing IN/OUT,
next 70% of time is spent in doing computation and the last 10% of the time is spent in
again doing IN/OUT. The algorithm which is used by the multi-programmed operating
system is shortest remaining compute time first scheduling algorithm and it schedules
new process either when the running process gets blocked in IN/OUT or when the
runiing process finishes its compute burst, If we assume that alt INJOUT operations
can be overlapped as much as possible, for what percentage of time does the CPU |
remain idle? (In addition to the calculation, explaining your answer in both graphs and
words 1s preferred) (15%)

9. BErA=X Java 23X A B, C » HBIGRLUR S{FRR A2 AT oy 58 5 3 n 18
B » dE—HARRID T —

A B—frmfExX(interface) ;. : 7 :,, B
class B B2t (constructor) » PIZTASIENEV ma KIS,
class C #J constructor 2RI S (E 85 AR =
7375 ma(int a)F— for R R M 1 BN S8 a ORI (HT 14243+ ..+ a) ;
J33% mb(int )8 — while 18  ERMHIE 1 2 a 69 EFA(E 1x2x3x..xa) ° }'i Ei
¥
BRSR A YO RIS S (Test java) BV AT T -
Public class Test{
public static void main(String [] args){
C c = new C(5);
System.out.println(c.mb(c.ma(4}));
) .
}
A B . &
tma(aind:int | N ] +B{a; int) —_-_1I+C(a: int)
+mb(a: int): int . [mafa: int): int +mbfa: int}: int

SRR L HLAS I R 7T > SERERTH A%6), BI%T), C(%T) » MM Test Hygh{T4E 5
(%5) °




